Transform this sentences into past, and then make it negative and interrogative.
Finally answer the question.

1. |am at school now

a. yesterday (+)
b. yesterday (-)
o yesterday (¢7)
e Yes,
Fg No,
2. You are at home now
a. yesterday (+)
b. yesterday (-)
o yesterday (¢?)
Fe Yes,
¥ g No,
3. Heis at the swimming pool now
a. yesterday (+)
b, yesterday (-)
i yesterday (¢7?)
Vg Yes,
> No,
4. They are at the supermarket now
a. yesterday (+)
b. yesterday (-)
o yesterday (¢?)
> Yes,
> No,
5. He s at the cinema now
a. yesterday (+)
b. yesterday (-)
c. yesterday (¢?)
> Yes,
g No,
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